Sivagangai Dt COMMON FIRST REVISION TEST - 2020

www.Padasalal.Net www. Trb Tnpsc.Com

& Standard X Reg No LS
fime 300 hours ¥ MATHEMATICS Marks 100
g':\ Part - | 14
} L‘huﬂ&#& correct answer: 14xl=
1 Ift de

10

1"

12

13.

red pairs (a+2, 4) and (5. 2a+b) are equal then (a b) 18
al{2, -2) b} (S, 1) ¢) (2. 3) d) (3.-2)

Let H_i:'l = J:;E , then
8) fixy) =1(x) 1(y) b) f(xy) >f(x) f(y) ) f{xy) < [(x) fy) d) maneof these

The sum of the exponents of the pnme factors in the prime factorization of 172915
a) 1 b) 2 c) 3 d) 4
The average of first 100 natural numbers 15 :
a) 508 b} 505 c) 405 d) 406
If (x - B) 1s the HCF of x’ - 2x — 24 and x’ —kx =6 then the value of k IS
a) 3 by 5 c) 6 d) 8
|' 1 2
A-13 4
Which of the following can be calculated from the given malrices N f
1 12 3
B-14 56 (WA*  ()B'  (W)AB  (iv)BA
7 8 9
a) (1) and (i) only b) {n) and (i) only
c) (i) and (iv) only ) d) all of these
In ALMN, <L = 60°, /M= 50° If ALMN - APQR then the value of _R 15
a) 40¢ b) 70° c) Ao° d) 1o
The slope of the line which is pespendicular to a line joining the points (0. 0) and (-8, B]_ s
a) - b) 1 c) )3 d) -8
The point of intersection of 3x-y=4andx+y=8is
a) (5. 3) b} (2, 4) c} (3, 5) d) (4, 4)
(1 + tgnd + sech) (1 + cold — cosect) is equal o .
a) O b) 1 c) 2 . d) -1
The total surface area of a cylinder whose radius 1s ' ol its height s
a) “—E‘i sq.units b) 24gh?squnits ¢ -'i;'?- sq.units d) 55.3& sq un“%{.‘_\
A shuttle cock used for playing badminton has the shape of the combination nﬁ,’j’
a) acylinder and a sphere b) a hamisphere and a cone {
¢) asphere and a cone d) fruslum of a cone and a he ie?.‘?lere
If the mean and coefficient of variation of a data are 4 and 87 5% th@ e standard
deviation is ! O '
a) 35 by 3 ‘c)45 " d) 25
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2) X Maths
14 ;;1& sel of all possible outcomes is called : -
sample space b) randgm experi
€) sample painl d) !‘-"ﬂ?lm permert
Part -1l
}k Answer any 10 questions: 10x2=20
15 U f(x) =4+ x g(x)=x -5, find fog

v}g Show that the function f - N-»N defined by f(x) = 2x - 1 is one-one but not onto
14243+ 7 +k=225thenfind P +2'+ '+ . +k

18. Find ';.T"‘!" i .'-i:.

18. Find the sum and praduct of the rools for 3 + } " i*? quadratic equation

7 8 E] 4 11 -3.
-./fD A=11 3 0| B:|-1 2 4
i
4d 1 7 s thenfind 2A + B.

\ﬁ Stale Menelaus Theorem,
+22 Find the slope ol the line which is parallel to 3x — 7y = 11
23 Find the equation of a line whose inclination is 30° and making an intercept -3 on the
Y-axis
24 Find the angle of elevation of the top of a tower from a paint on the ground, which is 30
m away from the fool of a tower of height 10/3 m
\2{ The curved surface area of a right circutar cylinder of height 14 cmiis 88 em? Find the
Diameter of the cylinder, .
+Z6 A metallic sphere of radius 16 cm 15 melled and recast into small spheres each of
radus 2 cm How many small spheres can be obtained?
The mean of a dala is 25 & and its coefficient of variation is 18,75 Find the standard
deviation. .
-Vﬁ White the sample space for tossing three cains using tree diagram
] Plﬂ - "I
Il Answer any 10 questions! g 10x5=50
9. Afunctien ! [-5, 8] -+ R is defined as follows’

6x+1 §sxe2
f(x)=15x°-1-25x<6 fing 21:21-16)
"y [(d)=1{-2)

Ix-4 Box<H
\fé Let [ be a function f ; N—N be defined by f(x) = 3x + 2, xeN .
i) Find the images of 1,2,3 if) Find the pre-images of 29, 53

i) Identify the type of function
31 Fmndthe LCM and HCF of 408 and 170 by applying the fundamental theorem of anthmetic.

32. Findthe sum [2:8 32,5030, . 1012 terms]
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(3) X Maths
33 If the roots of Ihq;ﬁ.'etluﬂllﬂn (¢! — ab)x’ — 2(a® - bec) x + b* = ac = D are real and equal
prove that 119 =0 (or) a‘ b' + ¢* = 3abc

11 IS :
It A l and C'—[ 5 3] Verify that-A(B + C) = AB + AC

EEﬁ am:l prave Alternale segment theorem
36 Prove analylicaly that the line segment joining the mid-points of two sides of a Inangle
15 parallel to the third side and is equal 1o half of ils length ’
* 37 If the points P(-1-4), Q(b,c) and R{5,~1) are collinear and if 2b + ¢ = 4_then find the
values of band ¢
38. Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation
of the top of the lighthouse as observed from the ships are 30" and 45° respectively. If
the hghthouse 1s 200 m high, find the distance between the two ships
/49, It the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm,
find the volume of the frustum ~

\AEI If the volume of a hollow sphere is ng_sz cm?® and outer radius 1s 8 cm Find inner

radius of the sphere (n = 2]

\/4/;. The marks scored by 10 students in a class test are 25, 29, 30, 33, 35, 37, 38, 40, 44,
48. Find the standard deviation

» 42. IfA,B,C are any lhree events such that probability of B is twice as that of probability of
Aand probabiltty of C is thrice as that of probability of Aand if P(A~B) =1 PIBAC) =1

P(AnC)=3, PAUBLC)= 2 P(ANBAC)=:L thenfind P(A), P(B) and P(C)?

Part-IV
IV. Answer both the questions choosing either of the alternative: 2x8=16

43. a) Consffuct a triangle similar lo a given triangle ABC with its sides equ_al to —:— of the

corresponding sides of the triangle ABC. (Scale factor §)

(or)
b) Draw acircle of radius 4 cm. At a point L on it draw a langent ta the circle using the
altemale segment.

44 a3) Discus the nature of solutions of the quadralic equation x* + 2x-12=0 &
L, 40

(or) )
b) Dfawthe_graphuIFxlﬂﬁx-ﬁandhencnsnlue xX!=-5x=-14=0 Q’
LA g i X § ] Oﬁ
. @«
O¢ [ ]
o
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